
Twin Bed with
Storage Drawers

Made in Brazil.

July / 2020

20

READ ALL INSTRUCTIONS BEFORE ASSEMBLING TWIN BED.
KEEP INSTRUCTIONS FOR FUTURE USE.

THE ASSEMBLY OF THIS PRODUCT REQUIRES TWO ADULTS.



Twin



Made in Brazil.

July / 2020

20

You will need a Phillips head screwdriver and a hammer

Twin Bed Parts:

Philips screwdriver Hammer

Tools required

10

1112

13

14

14

15 16

9

3 8

9

4

1
7

6

6

5

2

Manufacturer Label

(x2)

RED

RED

BLACK

BLUE

BLUE

GREEN

x12



Hardware:

FOR MISSING PARTS OR HARDWARE:

DO NOT CONTACT THE STORE WHERE YOU MADE YOUR PURCHASE.DO NOT CONTACT THE STORE WHERE YOU MADE YOUR PURCHASE.
Please contact the manufacturer directly at customercare@pkolino.com or 888-403-8992.
For customer service cases involving hardware please provide the part number.

16 Wooden dowel 10x40 (A)

06 Bolts 7 x 100 (C)

04 Bolts 1/4 x 110 (D)

08 Bolts 1/4 x 90 (E)

12 Elliptical nuts (F) 36 Screws 4 x 30 (G) 64 Screws 3.5 x 12 (H)

2 Wooden spacers 88mm (I) 1 Allen wrench (J) 8 Casters (K)

 8 Plates (L)

24 Wooden dowel 8x30 (B)

04 Adhesive felt (M)



Step 1
Headboard panels
1) Insert wooden dowels (A) into the holes, as shown in the diagram.

Hammer

Qty

08A
10x40 Wooden Dowel

10 x 40 Wood dowel

(x2)

 

Step 2

1)Attach parts 5, 6 and 7 on the post 1 and 2 with 2 bolts (D), 
2 elliptical nuts (F) and 6 bolts (C), using the allen wrench (J).
3) Remove the paper from the adhesive felt (M) and attach to the bottom of the posts 1 and 2 

Headboard

Qty

06C
Ø17 7 x 100 Bolt

7,0 x 100 Bolt

1/4 x 110 Bolt
Qty

02D
 ¹⁄�" x 110 Bolt

Allen
wrench

Qty

01J

A

A

C+J
C+J

C+J

J+C

INSIDE

F

F

J+C
J+C

D+J

J+D

M

M

A

A

A

A

F
Qty

021/4 
Elliptical Nut

J

C/D

5

6

7

5

6

6

7

1

2
Adhesive

tape

Adhesive felt

Qty

02M

BLUE

BLACK

HDB Bottom Part

HDB Part

TOP Part

F

Before inserting the bolts(D), 
attach the elliptical nut(F)  
as shown in the diagram.



Step 3
Footboard panel
1) Insert wooden dowels (A) into the holes, as shown in the diagram.

Step 4

1)Attach footboard panel 8 on the posts 3 and 4 with 2 bolts (D) and 
2 elliptical nuts (F) using the allen wrench (J).
3)Remove the paper from the adhesive felt (M) and attach to the bottom of the posts 3 and 4

Footboard

Hammer

Qty

04A
10x40 Wooden Dowel

10 x 40 Wood dowel

1/4 x 110 Bolt
Qty

02D
 ¹⁄�" x 110 Bolt

Allen
wrench

Qty

01JF
Qty

021/4 
Elliptical Nut

A

A

A

A

D+J

J+D F

F

F

J

D

8

8

4

3

M

M

Adhesive
tape

Adhesive felt

Qty

02M

INSIDE

GREEN

RED

FTB Part

G

Before inserting the bolts(D), 
attach the elliptical nut(F)  
as shown in the diagram.



Hammer

Qty

04A
10x40 Wooden Dowel

10 x 40 Wood dowel

Step 5
Rails
1) Insert wooden dowels (A) into the holes, as shown in the diagram.

Step 6

1)Attach rails 9 on the headboard, with 4 bolts (E), 
and 4 elliptical nuts (F) using the allen wrench (J).

Rails and headboard

1/4 x 90 Bolt
Qty

04E
Ø17 ¹⁄�" x 90 Bolt

F
Qty

041/4 
Elliptical Nut

Allen
wrench

Qty

01J

A

A

A

A

E+J

E+J
F

F

F

F

E+J

E+J

9

9

9

9

F

J

E

Before inserting the bolts(E), 
attach the elliptical nut(F)  
as shown in the diagram.



Step 7
Footboard

1/4 x 90 Bolt
Qty

04E
Ø17 ¹⁄�" x 90 Bolt

F
Qty

041/4 
Elliptical Nut

Allen
wrench

Qty

01J

4 x 30 Screw

4,0 x 30 ScrewPN Qty

24G

Philips screwdriver

F
J+E

J+E

J+E

F

F

F

J+E

G
G

G
G

G
G

G
G

G
G

G
G

G
G

G
G

G
G

G
G

G
G

G
G

83

4

10 x12

Wooden spacer
3 ⁷⁄��" (88mm) 

Qty

02I

I
1)Attach slats 10 on the rails with 24 screws (G);
2)The rst slat must be xed to the end of the side rail bracket
3)After xed the rst slat use the hardware letter (I) 
to help dene the space between each next slats. 
Use 1-(I) on the left side rail and 1-(I) on the right side rail

1)Attach footboard on the rails 9 with 4 bolts (E) and 
4 elliptical nuts (F) using the allen wrench (J).

9

9

Step 8
Slats

=0mm

10

10

G
I

I

Align first slat with rail support.

F

Before inserting the bolts(E), 
attach the elliptical nut(F)  
as shown in the diagram.



HammerPhilips screwdriver

Step 9
Drawer parts
1) Insert wooden dowels (B) into the holes, as shown in the diagram.
2) Attach plate (L) with screws (H)

4 x 30 Screw

4,0 x 30 ScrewPN Qty

06G

Philips screwdriver

(x2)

8 x 30 Wooden Dowel 

Qty

24B
8 x 30 Wood dowel

L
Qty

08Plate
3.5 x 12 Screw

3,5 x 12 ScrewPN Qty

16H

(x2)

B

B

BB

B

B

BB

LL
LL

HH
HH HH

HH

B

B

B

B

G

GG

11

12

13

13

12

11

Step 10

1)Attach back side 12 and support 13 on the right side 11 with screws (G)

Right side of drawer

15

Pre holes

Left Part
Right Part

Right Part

Back Part

Back Part

Support Part

Support Part

BLUE

BLUERED



Step 11

Step 12

Drawer bottom
1) Insert drawer bottom 14, as shown in the diagram.

(x2)

(x2)

14

14

12

13

11

4 x 30 Screw

4,0 x 30 ScrewPN Qty

06G

Philips screwdriver

G

G G

1)Attach the right side 15 on the back side 12 and to the support 13 with screws (G)

Right side of drawer

1512

13

Support Part

Support Part

Bottom Part

Right Part

Back Part

Back Part

Right Part

Left Part
RED

BLUE

BLUE



Step 13 (x2)

(x2)Step 14

Drawer bottom
1) Insert drawer bottom 14, as shown in the diagram.

14

Drawer front
1)Attach the drawer front 16 to the parts 11 and 15 with the screws (H)

3.5 x 12 Screw

3,5 x 12 ScrewPN Qty

16H

Philips screwdriver

H

H

H

H

H

H

H

H

H

H

16

Bottom Part

Front Part

Right Part

Left Part

Back Part

BLUE

RED



Step 15

Step 16

Step 1

Step 2

Casters
1)Turn the drawer down and attach the casters (K) 
to the sides with the screws (H).

(x2)

3.5 x 12 Screw

3,5 x 12 ScrewPN Qty

32H

Philips screwdriver

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

H

1"

H

K

K

K

K

K

K

H

H

Caster

Qty

08K

1"

1"

1"

1"



This product has been carefully crafted of MDF, solid pine wood and/or pine veneers. These materials derive

from plantations, a renewable and well managed forest, therefore, not endangering the environment. The highest

quality standards have been implemented to assure a sturdy and reliable product. Due to the natural variances in

the graining of wood, you may notice subtle differences in the shading and tone of the color stain, warp, holes,

wood knots and also small cracks. This is not a defect. But rather a result of the natural beauty of the wood itself.

ABOUT WOOD AND FINISH:




	Página 1
	Página 2
	Página 3
	Página 4
	Página 5
	Página 6
	Página 7
	Página 8
	Página 9
	Página 10
	Página 11
	Página 12
	Página 13
	Página 14

